Additional file 1. Results of statistical power analysis 
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Fig 1. Central and noncentral distributions 
Supplemental Table 1. Protocol of power analyses
t tests - Means: Difference between two independent means (two groups)
Analysis:	A priori: Compute required sample size 
Input:	Tail(s)	=	Two
	Effect size d	=	0.3333333
	α err prob	=	0.05
	Power (1-β err prob)	=	0.80
	Allocation ratio N2/N1	=	1
Output:	Noncentrality parameter δ	=	2.8185888
	Critical t	=	1.9683522
	Df	=	284
	Sample size group 1	=	143
	Sample size group 2	=	143
	Total sample size	=	286
	Actual power	=	0.8020829
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Fig 2. X-Y plot 
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t tests - Means: Difference between two independent means (two groups)

Tail(s) = Two, Allocation ratio N2/N1 = 1, α err prob = 0.05, Effect size d = 0.333333
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